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GENERAL INSTRUCTIONS

Examinee is directed to read carefully the following
instructions :

el = PRt R wm & v 3 ol RifRm R s ®

e

. Examinee must write his/her Roll Number in the
specified box on the top left hand comer of this page.
Answers are required to be marKed only on the
Computerised O.M.R. Answer sheet which is being
provided to the examines.

. Besides filling in the Roll Number, the examinee has
lo put his/her signature on the Answer-Sheel and also
fill other r quired details like Name, Roll Number,
Question Booklet code, etc. as indicated on the OMR
Answer Sheet. If these delails are not filled-in by the
examinee, his/har Answer Shest will not be evaluated.

. For each question, there are four alternative answers,
out of which only one is comect. Examineesmust darken
the circe of carract option in the wer Sheet by
Black Ball Peh only.

4, There are 24 (20+4) pages in this Question-Booklet
including 1 page for Genaral Instructions and four
blank pages for Rough Wark in the last. In ¢ se an
examinee receives aniincomplete or defective
Question Booklet, :ma:m hould make a request to
the Room Invigilator to . _ange the same within 10
minutes of start of the exam.

5. This Question Booklet contains 50 pcmﬂ_n:u from
following subject :
(1) Biology Q.Nos, 1-50

6. Each n_cmm: carries 1 mark and % aw:ﬂ Ea&m
deducted for each wrong answer.

7. Possassion and use of electronic devices such as
Calculator, Cellular Phone, Digital Diary, Log Table,
Pager, etc., are restricted during the examination.

8. Any leaf from the .D_._mmﬂ_oa Booklet should not be
detached. After the Examination, Question-Booklet
and Answer-Sheet must be handed ovaer to the Room
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1. Select the correct statement. 1. 9 I G

A) Acetobacter aciti produce citric A) n@&ﬂaﬂ%@@ﬂm@ﬂﬁmﬂﬂu
acid
E2G B

B) Saccharo yces cerevisiae is used
as uster

Lﬁmuﬁﬁﬁﬁ@ﬂﬁwm@wﬁ%&:g

TRAHETAH - WTR
OH Penicilliu notatum restricts the

argiith  staphylococo c) e =R R R
%\ wiraftra = ¢

D) Methenogens are found in aerobic

conditions D) REMeE T ged 3 T ﬂ_w.m

2. Read Em statements and identify the =4 "
right option. 2. Fu ! e R Tl fawew g |

Statement |: Human liverfluke HU | AFE T AR 3w Hia
* depends on two :
_ intermediate hosts they : 3T el I T | T
.- are snail and fish. E e
L U I 39 T *FERT
mzﬁnaa.: Il: The life cycle of _ “
_ Endoparasites are very GEMEE % Sl I ot &
"m. . g _simple because of their | . wEEl
Vi Bxtreme specialization. : g
3 Pmam::m:a__m_,mno:mﬂ B A) o QUi EE
mv mﬁﬁawa I :n 1l are incorrect _ 8) = | U _:.Em ;

C) Statementlis noz.mﬂ andllis
incorrect C) =y | wet, || Teqa




.3 In the DNA molecule 3. DNA & e

=

.. E __._m._.u&ucac:.oqmam:im in relation A) mwu#ﬂ&mmﬁ@m_ﬂﬂﬂwﬂmﬁmw

to thymine varies with the organism a1y FEeTar Wl @

B) there are two strands which run B) @ i =t 8 5 8 i e & 3k
antiparallel one in ' —» 3 direction I 8 o 5 R dree dewad
and other in 3 — 5’ direction

C) =i fRmerey R ngifiera
C) the total amount of purine & :
. fFeraersy i T T g e
nucleotides and pyrimidine uﬁﬂ%
nucleotides Is not always equal :
D) AR ENN 5 - 3 ow & wuwia
D) there are two strands which run det :

parallel in the 5' - & direction

4. TR I AN R ?

4. Which one of the following is wrongly

matched ? :
A) ufteraT — DNA R tRNA & geameii =
A) Transcription — Writing information foam
from DNA to tRNA |
B) 3@ — mRNA # gamait &1 3wgm
B) Translation — Using information in =05 DR T

mRNA to make protein
: C) Saal S — USTRy v i 95
¥ R st A s

C) Repressor protein — Binds to
operator to stop enzyme synthesis

D) Operon - Structural genes, D) AT — weermensh <, Iidte sk
~ operator and regulator s
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mm__m.nﬁ the _._oc...mma mﬂmﬁam:r

A) Hybrid seeds must be produced
every year to obtain maximum
advantages of heterosis

B) Heterosis is lost by inbreeding

C) Apure-line is the progeny of alarge :

number of heterozygous self
pollinated plants

D) Genetic diversity is being or is
likelytob usedinthe improvement
of domesticated plants

5. Which of the following is not an example
for degenerate codon ?

A) Leucine
B) Alanine
C) Tryptophan
D) Glycine

7. Which of the following is not a
characteristic of Drosophila
| Em__m:ohmﬂma 2= T
| A) They are n__amo_ncm flies
' B) The genes mE&ma by Morgan
found on different chromosomes

€) They show many types of heredity

vwarnatinne

2%@@&.%%5&&@%
firq & = g de 1 Feared fonan

SET R

B) Fifr TR IR S TR A TR

C) ﬁ,ﬁ%%%ﬂﬂ&
&ﬂmﬁ@ﬂ%@mﬂm

D) g e e a1 wrer et <6 U
3 sy SR S GwET 8

%

m.ﬁm@ﬂuaq@qﬂ%_awﬂnﬁﬂs
a7
A) T
B) W
C) f&iwem
D) RiA

7.7 | %@%%ﬂ_
a7
A) A sEifherE niRet §
B) W ﬁ%@ﬂﬂ%% :
7o s 3 R
Qwsﬁ?ﬂ:wﬁ&i%ﬁiw




2. 7oad lhe statoments and identlty the | 5 sy 2 ot e ¥ |

__right option ;

TP -

Statementi: Due to continental drift

pouched mammals of JHtegiern & firer gam
Australia survived. T o
Statementll: South America joined T : mﬂm_.q SRR, 3T ST
North America due to
continental dift. e A fywe &
FHOT T |

A) Statement | and Il are correct

|
B) Statement | and Il are incorrect A} 3ok !
C) Statement 1 is correct and li is B) o | 7w Il e

incorrect .
C) =97 | w&t 7o %o || om0

D) Statement I is incorrect and I is

correct : ' D) w9 | T aur w9 ) @
9. Identify the mis-matched one. 9. A =l yE=TRT |
A) Australopithecus — hunted with A) S@@E@ﬂﬂlaﬁgﬁﬂ@m&@aﬂa
stone weapons ¥

B) Homo habilis ~brain capacity 650 cc B) %@uﬂ@.@ﬂlﬂ@ﬂmﬂ_ﬂﬂﬂm&c ce

C) B Qwew — miw @y §
D) Modem man arose — 10 thousand

years back - DT R R e —.

C) Homo erectus — ate meat
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Which of the following contains only
bacterial disease ?

A) Cholera, Typhoid, Pneumonia
B) Malaria, AIDS, Cholera
C) Typhoid, Tuberculosis, Influenza

D) Diabetes, Malaria, Syphilis

Diversity of which of the following given

groups are maximum ?
A) Fishes
B) Algae
C) Fungi

._uu Amphibians

The oceanic carbon reservoir constitutes
A) 49%
"B) 71%

C) 50%

10. ﬁmwmﬂmmﬁﬂﬂg%m ?
A) T, TEERE, FetRa

B) WA, TgH, HIAT

C) TR, %@gﬁ TR
D) satadte, weit, fftsE

11. PreliRea 7 & fra g H Rifaw
st § 7

A) Teed
B) s
C) 5%

D) IFE=N

12, apft e e T |

A) 49%
B} 71% ;

C) 50%



13 Eogiﬁb‘mﬂﬁ.ﬁwﬂoﬂ.mﬁlﬂozﬂmn ~ |5|ﬂ@ﬂ@.ﬂ.ﬁ$ﬂ.ﬂﬂﬂumﬂwmumﬂﬂ|| Sy
when .

A) the genes are located very near to A) S HHEH ¥ T T i o 2

another on chromosome
_ B) 7 swem & o g @ [ fBm 2

B) the genes located far away from

one another on chromosome

C) wIRiT e &9 e 2

C) the crossing over is very less

D) the genes are located only on D) S Y- F oo B

Y-chromosome

14. T GYE 1 I Heitoa wioom, thate
the blood group with their respective ST of frte e & wmw R s -

antigens (sugar), antibody genotype A A Y IETH |
and special character.

14. Identify the correct combination showing

@A wfiem Wit Reegy Rl

Blood Antigen Antibody Genotype Special . g waﬂ.«...ﬂﬂ . wfix
Group present/ _ Character
Sugar A A B b A1B  med
A ; A |B S
K ’ i h ao_._.u.___._ohﬂ”: il
iy B) B A a BB Fwwrm
B) B A a IBi®  Found only i e

in India .
C) AB AorB FRTE A8 wigeluswa

C) AB AorB none A B Co-
dominance D} O AMT a 1010 wrhitfrs

Botadt 99T b T
D) O Neither Botha [910 universal
AnorB andb donor
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5. Identify the mis-matched one. 15. 39 | o0 1 A
A) CUU - eucine A) CUU Leucine
B) 0L Gyl B) GGU - Glycine

C) GCU - Alanine
) 2 C) GCU - Alanine

B) Vali e
D). GAA: Valine
6. Which o he follo ~ gis not a sexually |
: transmitted disease ? 16. T A T AR R 7
A) Acquired immune nmmnmm:g 5 ot e
_syndrome ~m. . A o
B) Trichomiasis B) gemente
C) Syphilis ~ C) Tuffera
D) T tanus : . D) 3w
o : >
! =
17. n S.m womb:of the _._._o._wmm:.:m*_an heart 17. wf & ™ F ¥ & T A ﬂmo_ ST
sound of the foetus can be heard by e .mamﬂ gt o .mﬂuﬁ:.wn.w .
Stethoscopg at - . g ‘ o2 B E &
) mu =X B A) DTS e WA E S L T g
‘A) s 3.th of pregnanc | S ¥R - o E @
| . : | B) ™ & M AR A - 1 oo

B) rird month o ﬁ_.,mun._m__nae_ R W
C) miaean ¥ ui=d 7EW §

C) Fifth month of pregnancy




Statement|: Mild foetal ejection
reflex is induced by
placenta.

Statement |l: Foetal ejection reflex
triggers the release of
oxytocin from the

. ovary.

A) Statement|and Il are correct
B) Statement | and ll are incorrect

C) Statement | is correct and |l is
incorrect

D) Statement | is incorrect and Il is
correct
19. Identify the incorrect statement
pertaining to contraceptives from the
following.

A) Most widely accepted methods of
contraception in India is Intra
uterine devices

B) Surgical intervention blocks
gamete transport and thereby
prevent conception

C) Pills inhibit ovulation and
implantation as well as alter the
quality of cervical mucus and
retard the entry of sperms

D} IUDs are useful only before the

e Tl oo

wuA | e YO o wfeea
e g e fomam sman 81

I YT T O Nidad SN
A FiwdieiRE i fes = fon
w8

A) e | o 1w

B) %A |t || e @

C) =M | wel, %A |l Tera 8

D) e | e, e || W R

19, fraffga # ¥ ifys Ted #5 @ a@
T 8 ?

A) IR THTTRETET IYH ARG §
miFRYE % 4 o s §9 8
ST AT §

B) gftaga qum THURT H Akt F g
FrearaiheaT TEaEY Ta%E H 8§
C) et Rraewat it o & ww-
ary ity e & s ) qoEET
=t 3l § st i S R R R

D) IUD wears & gd & g a8
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20. The regression co-efficient for

-

I_

20. fifire TeTEit ¥ IR S i e

frugivorous birds in forests it & Rvg sl quiie 2
ifferent is
A) 1
A 1
% w B) 15 |
C) 115 S 3
D) 76 D) 1.76
21 the .ﬁ.oizm : - m
&  Columiri I P -
a. aus p.Resource @ 4 o = 9 ._mmﬁ.__
partitioning g D e
Connell q. Exclusion e q. e g
principle : :
‘s o] Arthur r. Competitive & q.

d. Verhaust-Pearl s. Log growth '

curv
* A) a-q, b-p, d-r

) a-r,b-p, d-q
C) b-r, d-s
D) a-r, b-s, c-q, .a
0y

22. TR& Hardy-Welnb&fg prifisiple mmw_m_zm
<o that the speciation iz iy

A) Morphologieal .
B) Chr mosomal chanqges

FEisve-ue s. 3T e 7=

mMs_ a-q,b-p,c-s, d-r :
.'mv a-r, c-8, .ﬂ w #

C) a-q,b-r,c-p,d-s Ld.

D) a-r, _.._..mﬂ. H_ﬁu” _ .
aﬂu&uﬂ@ﬁ: i %. ° 1
m“m_ﬂm . ; mm_w i & . ~

? . m . =
aﬁq_ﬂﬂmmﬂm

B) shiHISIHTeHS SeaE

o, 1



23. Multiple a_m_mmum.:m_..nrminﬁﬁmn by

" A) more than two alternate forms of
genes found at different loci

B) more than two alternate forms of
genes found on same loci

C) one gene occurs in two
chromosomes

D) none of these

24. Which of the following is a mis-matching

pair of the disease and medicine ?
A) Emphysema - I-antitrypsin
B) Cancer -~ Alpha interferon
C) Blood clot — Streptokinase

D) AIDS - Penicillin

25. Identify the right pair of the extinct animal

with their country.

Animal Country
A) Dodo Russia
B) Thylacine Australia
C) Quagga Mauritius

D) Stellar Sea Cow Africa

A) fafim et § o smEe @ 3 afte
Jehfeten S

B) & € wsht # UI¢ AT &) § iRt
i Sl

C) T S 3 wiiey § wdw =i
D) &7 & =I5 e

24, T8 A HR T4 ey e S ?

b@ﬂﬂ&wa_mg%#q

B) S — ATEH 2T
C) & F1 91 — RE4d
D) AIDS - ¥l

Hr@ﬂﬂﬂ@mﬁmﬂmaﬁaﬂ%%@&:%_

wfer X
A) St 4
B) agemfEr . e
C) =T - WrRre

Ny T T T e Sre——



5. The restriction site recognized by
enzyme EcoRl is

A) CCGGGC
B) CTGCAC
C) GAATTC
D) AAGCTT

7. Which one of the following is not
correctly matched ?
A) Dengue Aedes mosquito
B) Malaria

C) Amoebiasis Houseflies

Female Anopheles

D) Ringworm  Droplets

8. Which of the following enzymes is not
produced by E.coli during lactose
catabolism ?

A) p-galactosidase

B) Galactoside transacetylase
C) Carbonic anhydrase

D) Lactose permease

)9, According to HGP, the longest gene

consists o.*

A) 3, 164, 7 million base pairs
B) 3000 base pairs

C) 2968 base pairs

A) CCGGGC

B) CTGCAC
C) GAATTC

D) AAGCTT

27. Tl § e dawE g A R 7

A) 9 LEIE R
B) o - W GAIHeE
c) sfifrai  wfRaat

D) T® EGl

28, = & & A W1 GEA 1 WA 5. et o
T ST TUEIEE % A 8T R
TR ?

A) p-eiEw

B) Merrids grddeRT
C) FEife TeEeH

D) @G TRE |

29. HGP ¥ 3R ¥a@ & 3 # 3 W3
oA .

A) 3,164, 7RfR@R -

B) 3000 |

C) 2968

R o o T

L




J.

32.

33.

induced and developed by

A) Mutation cqm.m&:m

B) Hybridization

C) Polyploidy breeding

D) Recombinant DNA technology
method

Capacity of a plant cell to give rise to
whole plant body is known as

A} Reproduction

B) Budding

C) Totipotency -

D) Regeneration

A population has more than 50% in post
reproductive age group; according to
you such population is

A) stable

B) declining

C) increasing

D) showing biotic potential

ADA deficiency can be permanently
cured by

A) Bone marrow transplantation

during infancy

B) Enzyme replacement therapy at
the age of five

C) The infusion of genetically
engineered lymphocytes

D) The introduction of the ADA-
producing gene into the

mosaic virus and powdery mildew were

D) {: "uiem giean seifeh &y
31, T Hiw F amed S a3

4wy B 39
A) YT
B) waifea
C) afeure=h
D) TS

FEd B

32. TF AR F 50% RS A = T
- ST’ Y AT F R; AIF ITER 3 TN

1 AT 2

A) fér

B) Sgnaref

C) =t

D) Sifess &man =t Remamst

33. ADA &l =71 I T0F TR TEd ¥9 @

dw s EwaT 2 |

A) =9 H T % TRIRIOr ¥ g

B) wiw & it 37 # wemen whieamw
Taferear g

C) gafies w9 ¥ Sefifae Reprares)
F1 A

D) ADA- 3t S &t yur

— e ome -



4. Restriction endonuclease breaks bond | 34. sfiag. ___ HdE Ew
between the W |
A) Base pairs of DNA molecule A) DNA 39 % 3TaR S
B) Sugar-phosphate backbone of B) =i tie Hf-wicke e $t £
nucleic acid i) .

C) Exons and introns in cistron w ﬁm& e & waew of $20 .. | 5

D) N-glycosidic bond between su i 5
R g 5) <t v 3 -
and base | nw

}5. Select the wrong statement.

A) Our present day crop plants are A) ﬁ#ﬁﬂu.@m& k] ﬂmﬂwﬂm T
entirely different from their wild et it & s ST
ancestors : B) s asft gAR &t % wud
B) Almost all our present day crops u&@ﬂmﬂ e g0 gt TR S
‘are the result of selections carried 5 :
out by the prehistoric human beings C) ¥Fae gale w1 4 I Ed A
C) Seeds and plant samples o.q only _ ﬂ"_wﬂmzmﬂ.qwﬂmwmﬂw.w?&ww,.nﬂ i
genet cally superior and cultivated | R M.ﬂ m»m_w RFR <
species are introduced from.one | . & . : i i
country to another m | D) v FEa i i st Rl
D) Genetic diversity of our crop plants { =l .ﬂmﬁ_ ferem o g
. mustbeconserved 8 _ |
5 | B i b 36, R et S rDNA SeRe S 8 2
36. rDNA is produced by joining | ) - L
_ . . A) @& mRNA % @™ DNA @i
A one mRNA with a DNA segment & R
. B) & mRNA & a9 w@ife DNA

B) one mRNA with plasmid DNA
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37. Plasmidis a

A) extrachromosomal, self replicating,
double stranded, linear DNA of
bacteria

B) chromosomal, self replicating
double stranded, circular DNA of
bacteria

C) extra nuclear, self replicating,
double stranded, circular DNA of
bacteria

D) nuclear, self replicating, double
stranded, circular DNA of bacteria

38. Find out correct statement about Bt toxin

A) Bttoxinexistsasan mn?,mnoaﬁo_._zn_
in the Bacillus

B) Bttoxin is produced by cotton plant
to kill pest

C) The activated toxin enters into
ovaries of the pest and the pest
killed

D) The inactivated prototoxin gets
converted into active form in the
insect gut and kills the insect

39. Elution means

A) tutting and extraction of DNA
bands from the agarose gel

B) separation of DNA fragments on
agarose gel

C) making the DNA fragments visible
when exposed to UV light

D} isolating a desirad aana fram YA A

37. wfdie @&

A) 3t FeeiTa, T YRR, g
WIeE, wreiiEn w1 faw DNA |
B) wiIsime, W4 @i, g wids,

SAREAT T MR DNA
C) it ~fvrm, ﬁaiﬂ%@: R
wite, SR 1 e DNA

D) =ffferr, @ emrsfen, T Wide,
SITFRIET I et DNA

38. Bt 2R & fomm & wdt a7 )

A) Bt i framsfict 4 & wa o 2

. Fedwmd

B) Bt 2R\ FIm@ & i g $iet =y
AR & fore I e s 2

C) e = siewm # fanshia R vas
Tl & AN e o ST @

D) fmmfEa Wi frnsie e
% ¥9 H Teet 9 iz F g o aw
I & 2

39. He %1 gaes 2

>v%=¢m@mwcz>»dﬁﬂﬁ;£
T s
B) RI@ Si& & I DNA ¥ g&el #

' C) UV it § DNA ¥ g2 W e
AT R

-



0. One of the following supports declining

phase of a population
A) Mortality > natality
B) Natality > mortality
C) Mortality = natality

~ D) Natality — mortality = 0

1. Zoospore is a
A) haploid non flagellated spores
B) haploid flagellated male mm.._.._m_mm
C) haploid female gamete
D) :.mv_oa. flagellated spore
2, The list of agents of pollination mzn the
technical words used to describe the

- pollination are u?m:bm_oa. Identify the

correct pair.
- A) Malacophilly Pollination by snails
B) Entomophilly Pollination by birds

C) Orni hophilly Pollination by winds

3 o Y e 3T S fiRae ) srgen
o1 G T R |

A) TIX > FHE
B) =T > Heget
C) g ===t

D) IR — Jgel = 0

41, = <= (FER)
A) ST STERTTEIT STy
B) Srfor e X oweh
C) FforT ATt gweh
D) s e sfiemy

42. T 3 Aty qe s B vl weEme
i wedt F g A R A
FHERE. P |




A) cleistogamous flowers always
exhibits autogamy

B) chasmogamous flowers always
exhibit geitonogamy

C) cleistogamous flowers exhibit both
autogamy and geitonogamy.

D) chasmogamous flowers never
exhibit autogamy

44, One of the ex situ construction methods
for endangered species is

A) Wild life sanctuaries
‘B) Biosphere reserves
* C) Cryopreservation

D) National park

45, IUCN stands for

A) International Union for Nature and
Natural Resources

B) International Union for
Conservation of Nature and
Natural Resources

C) International Union for
Conservation of Natural
Resources

D} International Union for

Mamemanmimil awm ol Rl ok s

A) FHRITHE Bl TR = mivar 9t
Tria &
B) I=fie qwft wer e o ey &

C) T Je Te1 Wmiiar aut
ARt ) goria &

Uvﬂﬁmgmﬂﬂﬁdﬁﬂi
et g

44. Jeaw Sidl % 1T ex sity Fmior waf 2
A) FET AT
B) % Wed WeR
Cy sifrimm
D) Ul 3um

45, {UCN =1 Haera &

A) TR G BRI it AT
g

B) ST G BRFrT T 1% =R
iz =g feda

C) FeEIIFE AT G Fo[I A6
e e

D) TEEHA YA R FHeReH 6

3G U L2 B 10 | 11 5
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46. One of thé agricultural practices of
breeding and raising livestock is
called

A) Veterinary science
B) Dairy farm management
C) Cross breeding

D) Animal husbandry

7. Mule is a cross breed obtained by
crossing :

A) male horse and female zebra
B) male donkey and female zebra
C) ale horse and female donkey

D) maile donkey and female horse

18. Identify two rice varieties used to
develop semi dwarf variety of rice -

A) IR-8 and Taichung native-1
B) Sonalika and Kalyan Sona

C) Java and Ratna

= ..

M_m. %ﬁ&iﬁﬁﬂ%&ﬂu@ﬂ
I e B

A) uyfafeen fgm
B) TN ST

C) 9R W=

D) wifer iy

47. T G & e 2, 3 e e e
| A) 9rgr  #mE e

B) T &R Trer Sfisn

C) det iR Teht

D) ur iR gt

Y
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asexuatTenrode 49, ﬁnﬂﬂuﬂmﬂwﬂ%ﬂ. Sl um_:ﬂlnwmﬂ_lﬂw -
_ we? R
A) Offsprings are similar to their
parents A) dafa arar-foa S 9t 2
B) Reduction division takes place B) a7sifirs worm & A Yo faweE
during asexual reproduction S 2

C) Offspring do not show variation .
C) wafd & #r§ weh &1 erar

D) Zygote formation does not take

place D) w1 13 @1 gar

50. Match the Column | with Column 1l and
select the correct option from the choice 50. T | 9T || F G TR g wel e 9
below : : .

wal wall
Column | - Column I
a. el i. A
a. Polyembryony i. Commelina
b. sfEw ii. ="

b. Dioecious ii. Grass

c. Tt iii. TR
d. siufRm iv. Rrgw

c. Cleistogamous iii. Date palm
d. Apomixis iv. Citrus

a b ¢ d
a b ¢ d

A) (iv) (ii)y (i) 3
B) (iv) (iiiy (i) (i)
C) (i) () @v) (i)

A V) Gi) @ (i)
B) (v) (i) (i) ()
) () ) (v) i

| D) (i) (v) ) (i
D) (i) (V) () (i)




